

$$\bullet \int_2^3 x^3 e^{x^2} dx = \frac{1}{2} \int_2^3 x^2 (2x e^{x^2}) dx =$$

$$= \frac{1}{2} \left([e^{x^2} x^2]_2^3 - \int_2^3 e^{x^2} 2x dx \right) =$$

$$= \frac{1}{2} (e^9 \cdot 9 - e^4 \cdot 4 - [e^{x^2}]_2^3) =$$

$$= \frac{9}{2} e^9 - 2e^4 - \frac{e^9}{2} + \frac{e^4}{2}$$

$$= 4e^9 - \frac{3}{2}e^4$$

$$\bullet \int \log(\sqrt{x+1} + \sqrt{x-1}) dx =$$

$$= x \log(\sqrt{x+1} + \sqrt{x-1}) - \int x \frac{1}{\sqrt{x+1} + \sqrt{x-1}} \left(\frac{1}{2\sqrt{1+x}} + \frac{1}{2\sqrt{x-1}} \right) dx$$

$$= x \log(\sqrt{x+1} + \sqrt{x-1}) - \int \frac{x}{2\sqrt{x^2-1}} dx$$

$$= x \log(\sqrt{x+1} + \sqrt{x-1}) - \frac{1}{2} \sqrt{x^2-1} + C$$

$$\int_0^1 \frac{e^t}{\sqrt{1+e^{2t}}} dt$$

$$e^t = x$$

$$t = \log x$$

$$dt = \frac{1}{x} dx$$

$$t = 0 \rightarrow x = 1$$

$$t = 1 \rightarrow x = e$$

$$\int_1^e \frac{x}{\sqrt{1+x^2}} \cdot \frac{1}{x} dx = \int_1^e \frac{dx}{\sqrt{1+x^2}}$$

$$x = \sinh z \quad dx = \cosh z dz$$

$$\int \frac{dx}{\sqrt{1+x^2}} = \int \frac{\cosh z dz}{\sqrt{1+\sinh^2 z}} = \int \frac{\cosh z}{\sqrt{\cosh^2 z}} dz =$$

$$= \int dz = z = \operatorname{arcsinh} x$$

quindi

$$\int_0^1 \frac{e^t}{\sqrt{1+e^{2t}}} dt = \int_1^e \frac{dx}{\sqrt{1+x^2}} = \left[\operatorname{arcsinh} x \right]_1^e =$$

$$= \operatorname{arcsinh} e - \operatorname{arcsinh} 1 =$$

$$= \log(e + \sqrt{1+e^2}) - \log(1 + \sqrt{1+1}) =$$

$$= \log(e + \sqrt{1+e^2}) - \log(1 + \sqrt{2})$$

$$= \log\left(\frac{e + \sqrt{1+e^2}}{1 + \sqrt{2}}\right)$$

$$\begin{aligned}
 \bullet \int x \lg^2 x \, dx &= \frac{1}{2} x^2 \lg^2 x - \int \frac{1}{2} x^2 2 \lg x \times \frac{1}{x} \, dx = \\
 &= \frac{1}{2} x^2 \lg^2 x - \int x \lg x \, dx = \\
 &= \frac{1}{2} x^2 \lg^2 x - \left(\frac{x^2}{2} \lg x - \int \frac{x^2}{2} \frac{1}{x} \, dx \right) \\
 &= \frac{1}{2} x^2 \lg^2 x - \frac{x^2}{2} \lg x + \frac{x^2}{4} + C
 \end{aligned}$$

$$\begin{aligned}
 \bullet \int x \operatorname{arctg} x \, dx &= \frac{x^2}{2} \operatorname{arctg} x - \int \frac{x^2}{2} \frac{1}{1+x^2} \, dx = \\
 &= \frac{x^2}{2} \operatorname{arctg} x - \frac{1}{2} \int \frac{x^2+1-1}{x^2+1} \, dx \\
 &= \frac{x^2}{2} \operatorname{arctg} x - \frac{1}{2} \left(\int 1 \, dx - \int \frac{1}{1+x^2} \, dx \right) \\
 &= \frac{x^2}{2} \operatorname{arctg} x - \frac{1}{2} (x - \operatorname{arctg} x) \\
 &= \frac{x^2}{2} \operatorname{arctg} x + \frac{1}{2} \operatorname{arctg} x - \frac{1}{2} x + C
 \end{aligned}$$

$$\int_1^2 \frac{1}{x^3} \operatorname{arctg}\left(\frac{1}{x}\right) dx$$

$$\frac{1}{x} = t \quad x = \frac{1}{t} \quad dx = -\frac{1}{t^2} dt$$

$$x = 1 \rightarrow t = 1$$

$$x = 2 \rightarrow t = \frac{1}{2}$$

$$\int_1^{\frac{1}{2}} t^3 \operatorname{arctg} t \left(-\frac{1}{t^2}\right) dt = \int_{\frac{1}{2}}^1 t \operatorname{arctg} t dt$$

$$= \left[\frac{t^2}{2} \operatorname{arctg} t + \frac{1}{2} \operatorname{arctg} t - \frac{1}{2} t \right]_{\frac{1}{2}}^1$$

$$= \frac{\pi}{4} - \frac{1}{4} - \frac{5}{8} \operatorname{arctg} \frac{1}{2}$$

$$\bullet \int_{\frac{\pi}{4}}^{\frac{\pi}{2}} \sin 2x e^{\sin x} dx = 2 \int_{\frac{\pi}{4}}^{\frac{\pi}{2}} \sin x \cos x e^{\sin x} dx$$

$$\sin x = t \quad \cos x dx = dt \quad x = \frac{\pi}{4} \rightarrow t = \frac{\sqrt{2}}{2}$$

$$x = \frac{\pi}{2} \rightarrow t = 1$$

$$= 2 \int_{\frac{\sqrt{2}}{2}}^1 t e^t dt = 2 \left(\left[e^t t \right]_{\frac{\sqrt{2}}{2}}^1 - \int_{\frac{\sqrt{2}}{2}}^1 e^t dt \right) =$$

$$= 2 \left(e - \frac{\sqrt{2}}{2} e^{\frac{\sqrt{2}}{2}} - (e - e^{\frac{\sqrt{2}}{2}}) \right)$$

$$= 2 e^{\frac{1}{\sqrt{2}}} \left(1 - \frac{\sqrt{2}}{2} \right) = e^{\frac{1}{\sqrt{2}}} (2 - \sqrt{2})$$

$$\int_0^1 \frac{\lg(\operatorname{arctg} x + 1)}{(1+x^2)(\operatorname{arctg} x + 1)^2} dx$$

$$t = \operatorname{arctg} x \quad x = \operatorname{tg} t \quad \begin{array}{l} x=0 \Rightarrow t=0 \\ x=1 \Rightarrow t=\frac{\pi}{4} \end{array}$$

$$dt = \frac{1}{1+x^2} dx$$

$$= \int_0^{\frac{\pi}{4}} \frac{\lg(t+1)}{(t+1)^2} dt =$$

$$= \left[-\frac{\lg(t+1)}{(t+1)} \right]_0^{\frac{\pi}{4}} - \int -\frac{1}{(t+1)} \frac{1}{(t+1)} dt =$$

$$= -\frac{\lg(\frac{\pi}{4}+1)}{\frac{\pi}{4}+1} - \left[\frac{1}{t+1} \right]_0^{\frac{\pi}{4}} =$$

$$= -\frac{4}{\pi+4} \lg\left(\frac{\pi+4}{4}\right) - \frac{1}{\frac{\pi}{4}+4} + 1$$

$$= -\frac{4}{\pi+4} \lg\left(\frac{\pi+4}{4}\right) - \frac{4}{\pi+4} + 1$$

$$\int_{-4}^4 \sqrt{x^2 - |2x| + 2x + 4} dx =$$

$$= \int_{-4}^0 \sqrt{x^2 + 2x + 2x + 4} dx + \int_0^4 \sqrt{x^2 - 2x + 2x + 4} dx =$$

$$= \int_{-4}^0 \sqrt{(x^2 + 4x + 4)} dx + \int_0^4 \sqrt{x^2 + 4} dx =$$

$$= \int_{-4}^0 |x+2| dx + \int_0^4 \sqrt{x^2 + 4} dx = \textcircled{1} + \textcircled{2}$$

$$\textcircled{1} \int_{-4}^{-2} (-x-2) dx + \int_{-2}^0 (x+2) dx = \left[-\frac{x^2}{2} - 2x \right]_{-4}^{-2} + \left[\frac{x^2}{2} + 2x \right]_{-2}^0 = \textcircled{4}$$

$$\begin{aligned} \textcircled{2} \int_0^4 \sqrt{x^2 + 4} dx &= 2 \int_0^4 \sqrt{\frac{x^2}{4} + 1} dx = \quad \frac{x}{2} = \sinh t \quad dx = 2 \cosh t dt \\ &\quad x=0 \rightarrow t=0 \\ &\quad x=4 \rightarrow t = \sinh^{-1} 2 \\ &= 2 \int_0^{\sinh^{-1} 2} \sqrt{\sinh^2 t + 1} 2 \cosh t dt = \\ &= 2 \int_0^{\sinh^{-1} 2} 2 \cosh^2 t dt = 4 \int_0^{\sinh^{-1} 2} \frac{1 + \cosh 2t}{2} dt = 4 \left[\frac{1}{2} t + \frac{1}{4} \sinh 2t \right]_0^{\sinh^{-1} 2} = \\ &= 4 \left(\frac{1}{2} \sinh^{-1} 2 + \frac{1}{4} 2 \cdot 2 \cdot \sqrt{1+4} - 0 \right) = \textcircled{2 \sinh^{-1} 2 + 4\sqrt{5}} \end{aligned}$$

quindi:

$$\int_{-4}^4 \sqrt{x^2 - |2x| + 2x + 4} dx = 4 + 2 \sinh^{-1} 2 + 4\sqrt{5}$$

$$\bullet \int_0^{\frac{\pi}{4}} \frac{\cos x}{(\sin x)^\alpha} dx \quad \alpha > 0 \quad \text{IMPROPRIO}$$

$$x \rightarrow 0^+ \quad \frac{\cos x}{\sin x} \sim \frac{1}{x^\alpha} \quad \text{conv.} \quad 0 < \alpha < 1$$

in tal caso

$$\int_0^{\frac{\pi}{4}} \frac{\cos x}{(\sin x)^\alpha} dx = \begin{cases} \frac{1}{1-\alpha} \sin^{1-\alpha} \Big|_0^{\frac{\pi}{4}} & \alpha \neq 1 \\ \log(\sin x) \Big|_0^{\frac{\pi}{4}} & \alpha = 1 \end{cases}$$

$$= \begin{cases} \frac{1}{1-\alpha} \left[\left(\frac{\sqrt{2}}{2} \right)^{1-\alpha} - \lim_{x \rightarrow 0^+} (\sin x)^{1-\alpha} \right] & \alpha \neq 1 \\ \log \frac{\sqrt{2}}{2} - \lim_{x \rightarrow 0^+} \log \sin x & \alpha = 1 \end{cases}$$

$$\Rightarrow \begin{cases} \frac{1}{1-\alpha} 2^{\frac{\alpha-1}{2}} & 0 < \alpha < 1 \\ +\infty & \alpha \geq 1 \end{cases}$$

①

$$\int_0^{+\infty} \frac{\log(1+x^3)}{x^\alpha(1+x^3)} dx \quad \alpha \in \mathbb{R}$$

$\therefore x \neq 0 \quad x \neq -1$

$$x \rightarrow 0^+ \quad f(x) \sim \frac{\log(1+x^3)}{x^\alpha} \sim \frac{x^3}{x^\alpha} = x^{3-\alpha} = \frac{1}{x^{\alpha-3}}$$

$$\alpha - 3 < 1 \quad \underline{\alpha < 3}$$

$$x \rightarrow +\infty \quad f(x) \sim \frac{2 \log x}{x^{3+\alpha}} = 2 \frac{1}{x^{3+\alpha} \log x} \quad \begin{array}{l} 3+\alpha > 1 \\ \underline{\alpha > -2} \end{array}$$

$$\Rightarrow -2 < \alpha < 3$$

$$\int_0^1 \frac{|\log x| \sin x}{|x^2-1|^\alpha} dx \quad \alpha \in \mathbb{R}$$

$x \rightarrow 0^+ \quad x \rightarrow 1^-$

$x \rightarrow 0^+ \quad f \sim |\log x| x \rightarrow 0 \Rightarrow \text{integr. } \forall \alpha$

$$\begin{aligned} x \rightarrow 1^- \quad f &\sim \sin 1 \cdot \frac{|\log(1+(x-1))|}{(x-1)^\alpha |x+1|^\alpha} \sim \frac{|x-1| \sin 1}{|x-1|^\alpha 2^\alpha} \\ &= \frac{\sin 1}{2^\alpha} \frac{1}{|x-1|^{\alpha-1}} \end{aligned}$$

$$\int_0^1 \frac{1}{|x-1|^\alpha} dx \quad \begin{array}{ll} x=1=t & x < 0 \quad t < -1 \\ & x = 1 \quad t = 0 \end{array}$$

$$\int_{-1}^0 \frac{1}{|t|^\alpha} dt \quad \text{pr } t \rightarrow 0^- \text{ conv. } \alpha \neq 1 < 1 \rightarrow \underline{\alpha < 2}$$

$$\int_0^1 \frac{\arctan x^{\frac{1}{2\alpha}}}{\sqrt[3]{x} + x^2} dx \quad \alpha \in \mathbb{R} \setminus \{0\}$$

(2)

$x \neq 0$ $\sqrt[3]{x} + x^2 \neq 0$ sempre verificato per $x \in]0,1[$

in $x=1$ ok.

$x \rightarrow 0^+$ per $\alpha > 0$ $f \sim \frac{x^{\frac{1}{2\alpha}}}{\sqrt[3]{x} + x^2} \sim \frac{x^{\frac{1}{2\alpha}}}{x^{\frac{1}{3}}} = \frac{1}{x^{\frac{1}{3} - \frac{1}{2\alpha}}}$

$$\Rightarrow \text{mt. } \frac{1}{3} - \frac{1}{2\alpha} < 1$$

$$\frac{2\alpha - 3}{6\alpha} < 1 \quad 2\alpha - 3 < 6\alpha \quad -4\alpha < 3 \quad \alpha > -\frac{3}{4}$$

$$\begin{cases} \alpha > -\frac{3}{4} \\ \alpha > 0 \end{cases} \Rightarrow \alpha > 0$$

per $\alpha < 0$ $f(x) \sim \frac{\frac{\pi}{2}}{\sqrt[3]{x} + x^2} \sim \frac{\frac{\pi}{2}}{\sqrt[3]{x}} = \frac{\pi}{2x^{\frac{1}{3}}}$

$$\frac{1}{3} < 1 \Rightarrow \text{mt. } \forall \alpha < 0$$

$$\Rightarrow f \text{ convergente } \forall \alpha \in \mathbb{R} \setminus \{0\}$$

$$\bullet \int_0^{+\infty} \frac{x^{\frac{1}{4}+2}}{x^{\frac{1}{2}}(x^{\frac{1}{2}}+1)^2} dx$$

$$x \rightarrow 0^+ \quad f(x) \sim \frac{2}{\sqrt{x}} = \frac{1}{x^{1/2}} \quad \text{infatti}$$

$$\lim_{x \rightarrow 0^+} \frac{f(x)}{\frac{2}{\sqrt{x}}} = \lim_{x \rightarrow 0^+} \frac{x^{\frac{1}{4}+2}}{x^{\frac{1}{2}}(x^{\frac{1}{2}}+1)^2} \cdot \frac{x^{\frac{1}{2}}}{2} = 1$$

quindi f è integrabile in 0^+ - $(\frac{1}{2} < 1)$

$$x \rightarrow +\infty$$

$$f(x) \sim \frac{x^{\frac{1}{4}}}{x^{\frac{1}{2}} \cdot x} = \frac{1}{x^{\frac{5}{4}}} \quad \frac{5}{4} > 1 \Rightarrow$$

f è integrabile a $+\infty$ -

$$\text{Anzi} \quad \int_0^{+\infty} f(x) dx < +\infty$$

$$\bullet \int_2^3 \frac{x \sinh(x-2)^\alpha}{\sqrt{x^2-4}} dx$$

$$x \rightarrow 2^+ \quad f(x) \sim \frac{2(x-2)^\alpha}{(x-2)^{\frac{1}{2}} (2+2)^{\frac{1}{2}}} = \frac{1}{(x-2)^{\frac{1}{2}-\alpha}}$$

f è integrabile $\Leftrightarrow \frac{1}{2} - \alpha < 1$ cioè
 $\alpha > -\frac{1}{2}$

$$\bullet \int_0^2 \frac{e^x - 1}{(\sinh x)^\alpha |x-1|^{\frac{\alpha}{3}}} dx$$

$$x \rightarrow 0^+ \quad \sinh x = x + o(x) \\
(\sinh x)^\alpha \sim x^\alpha \\
e^x - 1 \sim x$$

$$f(x) \sim \frac{x}{x^\alpha \cdot 1} = \frac{1}{x^{\alpha-1}} \quad \text{allora } f \text{ è}$$

integrabile in 0^+ $\Leftrightarrow \alpha-1 < 1 \Rightarrow \alpha < 2$

$$x \rightarrow 1^{\pm} \quad f(x) = \frac{e^x - 1}{(\sinh x)^{\alpha}} \sim \frac{1}{|x-1|^{\alpha/3}}$$

$$\sim \frac{e-1}{(\sinh 1)^{\alpha}} \frac{1}{|x-1|^{\alpha/3}}$$

per $\frac{\alpha}{3} < 1 \Leftrightarrow \alpha < 3$ f è integrabile
in $x=1$.

Quindi $\int_0^2 f(x) dx < +\infty \Leftrightarrow \alpha < 2$.

• $\int_{-\infty}^{+\infty} \frac{e^{-\frac{1}{|x|}}}{x^2} dx$. $f(x)$ è pari $\Rightarrow$

$$= 2 \int_0^{+\infty} e^{-\frac{1}{x}} \frac{1}{x^2} dx = 2 \left[e^{-\frac{1}{x}} \right]_0^{+\infty}$$

$$= 2 \left(e^{-\frac{1}{+\infty}} - e^{-\frac{1}{0^+}} \right) = 2(1 - e^{-\infty}) = 2.$$

$$\bullet \int_2^3 x^3 e^{x^2} dx = \frac{1}{2} \int_2^3 x^2 (2x e^{x^2}) dx =$$

$$= \frac{1}{2} \left([e^{x^2} x^2]_2^3 - \int_2^3 e^{x^2} 2x dx \right) =$$

$$= \frac{1}{2} \left(e^9 \cdot 9 - e^4 \cdot 4 - [e^{x^2}]_2^3 \right) =$$

$$= \frac{9}{2} e^9 - 2e^4 - \frac{e^9}{2} + \frac{e^4}{2}$$

$$= 4e^9 - \frac{3}{2}e^4$$

$$\bullet \int \log(\sqrt{x+1} + \sqrt{x-1}) dx =$$

$$= x \log(\sqrt{x+1} + \sqrt{x-1}) - \int x \frac{1}{\sqrt{x+1} + \sqrt{x-1}} \left(\frac{1}{2\sqrt{1+x}} + \frac{1}{2\sqrt{x-1}} \right) dx$$

$$= x \log(\sqrt{x+1} + \sqrt{x-1}) - \int \frac{x}{2\sqrt{x^2-1}} dx$$

$$= x \log(\sqrt{x+1} + \sqrt{x-1}) - \frac{1}{2} \sqrt{x^2-1} + C$$